EXCELONZ

Class.Class 8 Subject: Maths Topic:Indices
SNo Answer Options
9/13
13/17
Choose the correct option : Cube
root of 729/1331 is 9/11
11/9
V2 + 14/11
v(256/121)
Choose the correct option © Square root of 2-—— is nat
16/11
V(2 *121 + 14)/121)
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1.1
Choose the correct option : Cube 0.11
root of 1.331 is
1.01
What is the last three digit perfect Answer
square number?
x3y323
Choose the correct option : (xyz)3 33
X'y~z
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Correct Answer is

1. Correct Ans option is9/11

2. Correct Ansoptionis 72 + 14/11
3. Correct Ansoptionis1.1

4. Correct Answer is 100

5. Correct Ansoption is x?’y3z3
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